Endurance Robotics Tripod Mount

www.endurance-robotics.com
[image: image1.jpg]



The Endurance Robotics Tripod Mount allows the PT-1 or PT-2 pan and tilt bases to be easily attached and removed from standard tripods. 

Kit Contents:
· 1x Tripod Clip
· 1x Main Plate
· 2x Servo Supports

· 2x 3/4” socket head screw

· 8x 3/8” socket head screw

· 4x washers
Assembly Instructions
1. Orient the tripod clip so that the notches face up. Place the clip on the main plate and align the holes.  Place the screws in the holes marked in red below and attach the clip to the main plate with two 3/8 screws. 
[image: image2.jpg]



2. Insert one servo support into the top of the main plate. Secure the support not covering the tripod clip with two 3/8” screws. Use two 3/4” screws for the remaining mount.

www.endurance-robotics.com


